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— XDFEEDOLEER L, &b L ThNnb
)Ln+/\4‘ﬁ0)1’) (Derrick et al., 2016)

JWIT 2 DDH T I
Welch’spld & 2 X TEZ 5D ?

WISDH B2 DDH > T I
t IR E COELY 7% L 1B

Derrick, B., Toher, D. and White, P. (2016) Why Welch'’s test is type | error robust.
The Quantitative Methods for Psychology, 12, 30-38.



2 DDT — XD
Student® t ENT 7 # /L & (Delacre et al., 2017)

Student® t IRE X pEICEHN I NS,
pEIZSEbELNGITS & FRBIN T3S (Benjamin et al.,, 2019)

plEICIF L <IN HLDH D (IF2, 2019)
p EIEZHI100F (CH7- 2HIETH S (Ruberg, 2021)

pEIZBRLHETIIEETH Y 5 % (ASA Statement, 2016)
p (BEDE H 777 DFEE

Delacre, M., Lakens, D. and Leys, C. (2017) International Review of Social Psychology, 30, 92-101
Benjamin, D. J. and Berger, J. O. (2019) The American Statistician, 73, 186-191.

WZER (2019) & EFAE. 230 9298,

Ruberg, S. J. (2021). Clinical Pharmacology & Therapeutics, 109, 1489-1498.

Wasserstein, R. L., and Lazar, N. A. (2016) The ASA statement on p-values.

The American Statistician, 70, 129-133.
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0D {E (Wasserstein & Lazar, 2016)

METENT —RIZK 2 TEHE R O N BEU EDMRG B Z B2 fER

(1) PplE<u)=u

BHIncpEDOFEZZ (1) ICKVRET 2,

Wasserstein, R. L., and Lazar, N. A. (2016) The ASA statement on p-values.
The American Statistician, 70, 129-133.
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P(Hy) : IBERERHIE L LWAESR
a: H1EDEY OHEER (HEKHE)

Upsig © JREIRGRDVELWEZIC, REY LHIBTT 52 & DR

Uonsig - mEIRGRAELWE SIS, FREL CHETT 52 & DA
P(H,) : XIAREEAIE L LWFESK

B: E2TEDFRY DHESR 1-p: REN

Upsig - MNIREDIELWEEIC, REY CHIBTT 252 & DEH
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EU(a) = P(HO)[aUO,Sig + (1 - a)UO,NSig] + P(H)[(1 - BIU; sig + ,BULNSig]

plE<a: BEREDHY plE>a: BERELL
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Ul.Sig =1 Ul.Nig =-1
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p{E (Wasserstein & Lazar, 2016)

RETEDN T —RICE > TEZ O NBEL EDOMRIEA(E%Z X 5 FEER

(1) P(plE<u)=u
BN pEOZLAEZR (1) ICL VIR 5,

Delacre > (2017) |Z. IERS. IEXNFRER M. —EIRHKH .
HAZE D, —FRPHDHEDpBEZANT WS,

RImETIH. ERDH. t oM. K7y Vv rom. NEERD .
BT 3 VEDDH (ZIEDM) DHEZHAND,

Wasserstein, R. L., and Lazar, N. A. (2016) The ASA statement on p-values.
The American Statistician, 70, 129-133.

Delacre, M., Lakens, D. and Leys, C. (2017) International Review of Social
Psychology, 30, 92-101
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V2T O

1
p(0|p, a?) = exp (—7‘2(9 — ,u)2>, E6) = p, var(0) = g*

StudentDHE & df. H & FWelchDt' (& & df’ L.
T—RXDREEFLVOEBEMOEEA (TR,

n=00=1LTEZX?

HEARESE (2013) ODERFRE#. 56, 7—34.
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ERH A OBLED BITIUE L R S5l S . MOFED ISR K D58 21T 9
EXIIANNVEE LT O LER R WEENH D (Gelman et al., 2014; Martin, 2018) .

v>0

2\ —(v+1)/2
r((v+1)/2) (1 1(9—u)> E@) =y  forv>1

— Vv
r'(v/2)\/vrro o var(9) = > ag?, forv > 2
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1%

t-distribution
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Gelman, A., Carlin, J. B, Stern, H. S., Dunson, D> B., Vehtari, A, & Rubin, D. B. (2014).
Bayesian data analysis, 3rd ed. CRC Press.

Martin, O. (2018) Bayesian analysis with Python. Packt.
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w7y o
BT —XDONTIZERT v amdfEHLNE Z &EHH 5 (Spieglhalter, 2019)

1
p(0|1) = a/leexp(—l), 6=012,.. E@@) =2, var(0) = A

Poisson distribution, A=20
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Spiegelhalter, D. (2019). The art of statistics: Learning from data. Pelican

2025/9/1 18



M=20, N=20, A=20 M=5, N=20, A=20

=== Student 1.0 i === Student
=== Welch === Welch
—— p-values=p —— p-values=p

0.8 1

0.6

0.4

0.2

0.0 -

0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8

M=5, N=5, A=20

1.0 1 === Student
=== Welch
p-values=p

0.8

0.6

0.4

0.2 4

0.0 4

0.0 0.2 0.4 0.6 0.8 1.0
2025/9/1



Y2 IE 30 7R

WHIER DM IZ. BEDORE., SPOWADOTE - EE., IKRDORE, DR,
MEloEa., EMEOEEK. £WEEO~NE - B2, mENOAD, BARFTSRER
E. KX, #E, YEB, &Y. H2DKIRRICIL BEoNdEETomTHY . AR -
RKARARGKRICEWTH, BE, fLBX {Z517& Y2} | EEEDENFNEERD
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NAHMEH A THD EMAINLTVWS (R F— « ERIYE RS R — L _—
2025.04.21) .

WEIERDIE, INEFTHENLEZBARABROA L LT, A2BERICELWTH LIT
LITERRIE NS, BIZIE, RN TRRINZH/BLDREERBDNEIER DI ITHE D
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A A=+

L2 ENREEINTWS (B - WK - . BARYEZRSEE, 2011, 658—665)

X1 + X2 + °°c + Xn — E%ﬁ%ﬁ

Y,Y, Y, > KRR AR lOgY1 + long JL 600 b logYn — S
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1
p(8]w 0?) = exp( 5— (logf — 1) )
T70bob, logflT¥-Hu, 53 DIERSAAITHES, T 2 T,

E(6) = exp (u + %02), var(8) = expu + o?)(exp(a?) — 1)

WX

1

mn = exp (u + 502>, sd? = exp(2u + %) (exp(c?) — 1)

B,
p(0|mn, sd) = p(9|,u,02)

1
u=log(mn) — Elog((sdzmn‘z) +1), o2 = log((sd*mn=2) + 1)

TH 5,
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